AMERICAN PROFESIONAL Il TELECASTER® DELUXE (011396XXXX
e PARTS LAYOUT
(8)
®

©

R

©
@@©
-

©

S}

|

DETAIL “A”

24 22 ° ° ae @@

1112 ]
° (10—
27 o ®
® e

[ J ) Q\
[e) 33 @ > ®
SE—) @
& ol 208 ;.0
L PFeee 13)14)17
23)24 ® . . 18)19)22
25
erryenl 13 *@
® 9 %b"ees ® 18
ﬁ 000000
L)
Vom,
‘ \
N,
. ,
58)29 R 29)34)35
?%J@g COPYRIGHT - 2022 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 1 of 7

Jun 2, 2022 - PR5855 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN PROFESIONAL Il TELECASTER® DELUXE (011396 XXXX)

PARTS LIST
REF# DESCRIPTION PART

NUMBER
1 BODY AM PRO Il TELE DLX 3TS 7718275500
1 BODY AM PRO Il TELE DLX DK NIT 7718276561
1 BODY AM PRO Il TELE DLX MERC 7718276555
1 BODY AM PRO Il TELE DLX OWT 7718276505
1 BODY AM PRO Il TELE DLX MYST SFG 7718276518
1 BODY AM PRO Il TELE DLX MBL 7718276519
2 NECK ASSY AM PRO Il TELE RW 7718278000
2 NECK ASSY AM PRO II TELE MPL 7718279000
3 PLATE NECK AM PRO II TILT CHR 7718160000
4 SCREW SMA 8x1-3/4 OHP NI 0015636049
5 KEYS GTR DUAL PIN MTG (4) SHORT (2) LONG W/HDWR 0990820100
6 STRING TREE AM ELITE GTR 7708381000
7 SCREW SMA 2X9-16 FHP NI 0051621000
8 WASHER KEY (6) 0053106049
9 BUSHING KEY (6) 0058820049
10 SET SCREW 1/4-20x3/8 OP NI HEX 0031571049
11 PICKGUARD AM PRO Il TELE DLX HH B/W/B 7719243000
12 SCREW SMAB 4x1/2 OHP NI 0015578049
13 KNOBS (2)VOLUME (2) TONE 72 TELE CUSTOM BLK 0054521049
14 KNOB JAZZMASTER VOLUME AGED WHITE 7712261030
15 KNOB JAZZMASTER TONE AGED WHITE 7712262030
16 SPACER NYLON .2500D X .09ID X .125L 7720927000
17 CONTROL 500K A.TAPER .25 x .625 S.SHAFT 7717082000
18 | WASHER LOCK INTL 3/8 X .68 0016436049
19 NUT HEX 3/8-32x3/32 TK NI 0016352049
20 CAP MPF RDL .022MF 250V 10% 0024832049
21 GUITAR POT W PUSH-PUSH SWITCH PLN SOLID SHAFT 500K 7717082000
22 PCB ASSY TREBLE BLEED AM PRO TELE DLX SHAW 7711094000
23 PICKUP ASSY AM PRO Il TELE DLX BRIDGE 7718283000
24 SPRING BRIDGE TELE CUSTOM 0019242049
25 SCREW M #3-48X7/8” RHP NI 0058404000
26 PICKUP ASSY AM PRO Il TELE DLX NK 7718282000
27 SWITCH TOGGLE 3-POS BLK W/HDWR 0078433000
27 SWITCH TOGGLE 3-POS AGED WHT W/HDWR 0053694000

*= NOT PICTURED IN DIAGRAM
?%@Z@g COPYRIGHT - 2022 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 2 of 7

Jun 2, 2022 - PR5855

- Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN PROFESIONAL Il TELECASTER® DELUXE (011396 XXXX)

REF# DESCRIPTION PART

NUMBER

28 BRIDGE ASSY AM PRO Il TELE DLX CHR 7719230000
28A | BRIDGE PLATE AM PRO II TELE DLX CHR 7719231000
28B | BRIDGE SECTION AM PRO TELE STD 7709970000
28C | BRIDGE SECTION AM PRO TELE REVERSE 7710421000
28D | SCREW MACH 6-32 X 1-1/4 RHP NI 0015834049
28E | SPRING COMPRESSION 1 1/16 #144 0018689049
28F | SET SCREW 6-32 x 3/8 OP NI HEX 7710028000
28G | SET SCREW 6-32 x 5/16 OP NI HEX 7710422000
29 SCREW SMA 6x1 OHP NI 0037952049
30 | JACK PHONE OPEN CIRCUIT 11 0021325049
31 FERRULE JACK STD TELE CHR 0021452000
32 RETAINER JACK NI PLT TELE 0010355069
33 FERRULE STRING RETNR NKL 0994918000
34 BUTTON STRAP CHRM W/HDWR 0063267049
35 [ WASHER FELT BLACK 0994929000
35 | WASHERS FELT WHITE 0994930000
* CASE MOLDED AM ELITE GTR 7708545000
* WRENCH 1/8 HEX (TRUSS ROD ADJUSTMENT) 0023811049

* WRENCH .050 HEX (SADDLE HEIGHT ADJUSTMENT) 0018531049

*= NOT PICTURED IN DIAGRAM

?%@[% COPYRIGHT - 2022 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 3 of 7
Jun 2, 2022 - PR5855 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN PROFESIONAL Il TELECASTER® DELUXE (011396 XXXX)

WIRING ASSEMBLY

3-WAY
TOGGLE SWITCH —_|

NECK PICKUP

VOLUME
CONTROL BRIDGE

BRIDGE PICKUP

VOLUME
CONTROL NECK

SHIELD

TONE/PUSH-PUSH
CONTROL NECK

TONE/PUSH-PUSH
CONTROL BRIDGE

?%@[% COPYRIGHT - 2022 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 4 of 7
Jun 2, 2022 - PR5855 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN PROFESIONAL Il TELECASTER® DELUXE (011396XXXX

WIRING ASSEMBLY
3-WAY
TOGGLE
GND WIRE
TO BODY CAVITY ﬁ’ —
O
P,
BLACK WIRE
TO BRIDGE
~
VOL CONTROL -
BRIDGE P/U ~
~
~ BLACK WIRE
~
- WIRE
TREBLE BLEED
BARE WIRE
TREBLE BLEED
CAPACITOR FCB
022pF VOL CONTROL
NECK P/U
BRIDGE PICKUP CAPACITOR
022pF
BARE WIRE

TONE CONTROL
PUSH-PUSH
BRIDGE P/U

W

TONE CONTROL

PUSH-PUSH
OUTPUT JACK NECK P/U
COPYRIGHT - 2022 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 5 of 7

Jun 2, 2022 - PR5855 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN PROFESIONAL Il TELECASTER® DELUXE (011396 XXXX)

SWITCH AND CONTROL FUNCTION

:
i
:

5 5 3 2 3 3 5 9 POSITIONS BUSH - PUSH
VOL 1+ TONE 1 + SWITCH
VOL1+TONE 1 | 5, TONE 2 | VOL 2+ TONE 2 |CONTROLS
- = = -
TONE 1 DOWN
=3E 3K e
TONE 2 DOWN
T 9 O-O@ |rosiTioNs
3 2 1 3 2 1 PUSH - PUSH
SWITCH
VOL 1+ TONE 1 +
VoL 1+TONE 1 | (5. TONE 2 | VOL2+ TONE 2 |CONTROLS
=A==
TONE 1 UP
=ik 3 e
TONE 2 DOWN
O-O® |posimions
3 2 1 3 2 1 3 2 1 PUSH - PUSH
3-WAY SWITCH VOL 1+ TONE 1 + SWITCH
3 2 1 o o voL1+TONE 1 | Wi L F TR 1P| VoL 2 + TONE 2 | CONTROLS
1° - = || 2
o TONE 1 DOWN
A === JE 3
o s o TONE 2 UP
o] ®-OO OO0 OO® |posiTions
® ® S 3 2 1 3 2 1 3 2 1 PUSH - PUSH
SWITCH
® VOL 1+ TONE 1 +
Jfoes I voL1+TONE 1 | s L F TR P VoL 2 + TONE 2 | CONTROLS
® LX)
® TONE 1 UP
()
©
® @9%5’ W TONE 2 UP
@ ®
® oee @ PICKUP IS ON PICKUP IS OFF
\ . VOL 2
@ e 3 POS SWITCH
® y TONE 2 1. COMBINED PICKUPS
VOL 1 o @: PUSH-PUSH 3 2 1 ARE IN PARALLEL.
TONE 1 SWITCH
PUSH-PUSH
SWITCH ® INDICATES POSITON
OF 3 WAY SWITCH

?%J% COPYRIGHT - 2022 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 6 of 7
Jun 2, 2022 - PR5855 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN PROFESIONAL Il TELECASTER® DELUXE (011396XXXX

ADDITIONAL SPECIFICATION DETAIL

FRET SIZE: JUMBO NARROW NECK PROFILE: DEEP “C”

(FRET DIMENSIONS ARE BEFORE INSTALLATION)

* N AN
2-7/16" |
e PLEASE NOTE: AS EACH NECK
= IS SANDED & FINISHED BY +

1ST FRET PROFILE

NN

.920”

l

094" I HAND, THICKNESS DIMENSIONS
MAY VARY SLIGHTLY FROM
N THOSE SHOWN.
-05;4” * AN

12TH FRET PROFILE

TUNING MACHINES : P/N 0990820100 TUNING MACHINE THRU-HOLE
OUTER SHAFT DIAMETER .394 INNER DIAMETER .404"
b ———- @ 404"
I
- [o] §
o |

@.394”

SADDLE HEIGHT ADJUSMENT WRENCH:

TRUSS ROD NUT: P/N

0994943000

.050” HEX KEY P/N 0018531049

TRUSS ROD ADJUSTMENT WRENCH:

1/8” HEX KEY P/N 0023811049

.050” HEX

SISIISEY

RN
1030—"
SET SCREW 3/8”: P/N 7710028000 THREAD
SET SCREW 5/16": P/N 7710422000
LOGO: AM PRO Il TELE DLX PICKUP SPECIFICATIONS

APPLIED UNDER THE FINISH

POSITION| MAGNETS |DC RESISTANCE | POLARITY
SINGLE COIL
NECK ALNICO 5 4.5-5.1KQ SOUTH
BAR HUMBUCKER | ORTH
6.7 - 7.3KQ
SINGLE COIL
4.8 - 5.4KQ
BRIDGE | ALNICO 5 8-5 28;¥E
BAR HUMBUCKER
7.6-8.2KQ
®
% COPYRIGHT - 2022 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 7 of 7

Jun 2, 2022 - PR5855 - Rev. A



http://www.fender.com/
http://www.fender.com/

